
       formulario
de inscripción

    Director CyLoG,
Castilla y León Logística.

   Tipo 
Cuota:

        Datos
Bancarios:

              Datos
Responsable:

              Datos
        Empresa:

Cuota anual.   (I.V.A. no incluido)

   Domiciliación bancaria

Avda. del Euro 7, Planta 3ª - 47009 Valladolid.
T +34 983 473 881   -   F +34 983 367 102
                                                      info@cylog.es
                                                     www.cylog.es

 

Conforme a lo dispuesto en la L.O.P.D. de 15/1999 y L.I.S.S.C.E. 34/2002, CyLoG
-Castilla y León Logística-, le solicita su consentimiento para incluir en un Fichero, cuyo responsa-
ble es la propia CyLoG, sus datos personales que figuran en el Formulario de inscripción de Socio.  
La finalidad  de la recogida de éstos datos es para:  La facturación, envío de información sobre 
actualidades en la gestión logística, biblioteca especializada, revistas profesionales, solicitud de 
subvenciones, formación, seminarios, conferencias, mesas redondas, bolsa de trabajo, visitas a 
empresas, atención personalizada para consultas e información de valor añadido de otras 
empresas asociadas.  Incluyendo expresamente las que se realicen vía correo electrónico, 
info@redcylog.com.  De acuerdo con la mencionada Ley, puede Vd ejercitar su derecho de acceso, 
cancelación, rectificación y oposición dirigiéndose a CyLoG, -Castilla y León Logística-, en Avda. 
del Euro 7, Planta 3ª, 47009 Valladolid, (Fax 983 367 102, acreditando su personalidad mediante 
fotocopia  de D.N.I. o N.I.F                                                                                            .
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Conforme a lo dispuesto en la L.O.P.D. de 15/1999 y L.I.S.S.C.E. 34/2002, CyLoG
-Castilla y León Logística-, le solicita su consentimiento para incluir en un Fichero, cuyo responsa-
ble es la propia CyLoG, sus datos personales que figuran en el Formulario de inscripción de Socio.  
La finalidad  de la recogida de éstos datos es para:  La facturación, envío de información sobre 
actualidades en la gestión logística, biblioteca especializada, revistas profesionales, solicitud de 
subvenciones, formación, seminarios, conferencias, mesas redondas, bolsa de trabajo, visitas a 
empresas, atención personalizada para consultas e información de valor añadido de otras 
empresas asociadas.  Incluyendo expresamente las que se realicen vía correo electrónico, 
info@redcylog.com.  De acuerdo con la mencionada Ley, puede Vd ejercitar su derecho de acceso, 
cancelación, rectificación y oposición dirigiéndose a CyLoG, -Castilla y León Logística-, en Avda. 
del Euro 7, Planta 3ª, 47009 Valladolid, (Fax 983 367 102, acreditando su personalidad mediante 
fotocopia  de D.N.I. o N.I.F                                                                                            .

    Firma Titular

Fo
rm

ul
ar

io
 p

ar
a 

C
yL

oG



��������

$��F����������
��
����
����������
��)����������������
�������������
�)�������G�����
�����(�����.������������������������� ?"���;�����������	�.������������;(������
5�.
�����)
������������
�������������*���������������
����������������������������������
����������������������)*��
����������
�����������

$$��F������H	��������I���������)���������������
������0��
������2
��������������
����
��
���/�����������
�-������2
�
������
���������
���������7������������)*��
��
�������������

$$$��F�������
����������5�
�����������������
�
����������H	��������I���/����������
��
��
���5�
�������������/�������
�
����������
����

$@��F���������������������������.����������.���������������������(��
���������������
����
��������
.����������
�����������/�
�������������������
���������������/�
��
�������(��
��/�������������
���������2
������
��/�����������������
2���
�)���
����������
������� �������������������������� ��� ��)�������
����� ���� �
)�
�����

��	
���	��

��
�����=��.4����������������

����.4������������������������������
������
3������������
����������������
�����������
�
����������������������
�
���
���������H	��������I�

���H	��������I���������)���������������
������0��
������2
�������������������
��
��

��������������������
��������
��
������������
��
��������0��
��������������������
��)*��
�������������������
����5�� ��� 	������������)�����5� �� ��)��
3��5� ���� ���
�� ��� ���
2
������ ����
������
����(�������
�������4�������������
�
��������������4�������5��
������)*��
���
��������������������
2���������
�����������

%�)�����=�	���
����
���������H	��������I

�������
��
������������
)���5�����
�����������	����������������
��.����
���)������
����	�������
�
���5��������)��������������������

��������
���������H	��������I����5�����2������������������
��
������4���������
��������
������������
�����������������2���������6�(�����
��������������������.�����
�����5������������������
���
��������
��
���������
�����������	����������
�����
���2��
�����

��������
����(����
2
��������2
�
�������)���������������H	��������I��������.���5�
������������5�.
��������������
��������������������
���������������������������
������)��)���*������6�������������������6�(����
)����/����������5�����
2
������/��
����
������H	��������I�������������
���7���
���
�����������������������
�
�������
����������
����������������������������������������)*��
���

���������
�
�������0��
����/���������)���������J�����������0��
���������)*��
����
�����������/�����
���������������
���������H	��������I�����5��������
�
3������
.�������
�����������
��
���


�������=��������
��������������
��
��

�����������������������������������������.����
����������
��
������������������
����
)�
����

����������������
���������������������
�������������/�����������������
��
�������
�������������������������
���������H	��������I�

���)��
3��
���
�����������H	��������I���������
���
������������������*��������
����
�������*������������2������
����������
���������������
��
�
����/���������
��
���2��
������(�������*�
��(�����2���������6�������
�����������H	��������I�������
���
2
������/���-��2��
�������
3������������
��
���

�$��������������������������G������������4��������������������������
��.�������
�
����

�B��.����4�������������������������
�
��������������H	��������I�����
�����������	���
/��(�����������(������������5�0����������������������

�$�������������������������������������������2
�������
����
��
�������	���������

���)��
3����������2������
2
���������������������2��)����
�����
����0��)�����������
�����
��.��������	���������

�������=��������
���������
��.�������H	��������I

��������������������������������������
��.�������H	��������I���������������*�
������
)�
����1

���
�����
��������
�
���
��(�+�
��������������������������
����0�,(�����������
����
�� ���
2
������ ���
��
���� ���� H	��������I� /��� ���2�/��� ��� ����
��
���

���������������������������������+���5������F9$B
�����������������������,��������
����
3��
���������
2
��������2
�
�������)��������

�����������������
�
��������������
������7���
���
��������5�.
�����)*��
��(���
�����
�����������������/������������������������
������0��
��������H	��������I�����
�������
2
������/���0���������������

� 	�������� ���� �����
������������������
��
�������� ��������� �����
��.�������
H	��������I����� ����������
�������������������� ��� ��)*��
����������
�����������

�B��.����4��������������
��
�������
�����������H	��������I�/��������������5���
�
���������������������������������������������
��

��
����
���������2������G������������

F�
����=�	���
���������H	��������I

��� H	��������I� ����
3��5� ���� ����
����� /��� ��� ��������� �� ����
����
��1

�D���
���������������������
�
����(���������4�����������
�����������������������
��)*��
������������������(���������
����������������������
�����������)*��
��(�������
�
�������������������������
2��(������������(�9�
2���
��������������
���
���
�����

����
���
3����7���
���
������7�������������4�������5��
�������)���
�����)*��
�������

���������������(� ������ ���� �
��������� ��������� �� �����2��� ��� ��� ����

��������������*��������$K�K
�������5�.
����������������������
�
����(��������.����
��
�������������
�����(�����������������
�
�������������)*��
���
���)���������
��������

�2���
)��
��(��������������������
���2��
�������������������������������(�����
������ ���� �2����
��� �� ���� ��4���� �
�������(� ���
��� �� ������
�
2��

����
�
��������0)
������������
��(�����������
����������������
��������������������
�����)
��(���������������*2����������������2
2�����������������)*��
�����������)
����(
����.���
�������������
�����5������������������������

�	����������$�����������������
����������������������������������)
�����������
��������������
��
3����(����������������)*��
������������������(������
�������������
������
�
2
�����������������)*��
���

%�7���=����
2
����������H	��������I

��� H	��������I� ����
3��5� ���� ���
2
������ /��� ��� ��������� �� ����
����
��1

�D���
����������������0��
���������
��
����������������������������������������)*��
��
������ ��� ��� 5�.
��� ��� ��� )��)���*�� ����6���� ����� ��� ��� �7����4����

�D���
������������.��
���������
2
����������������
��
�������������
������0��
����
0����

�@
�
�����
�������
�������)*��
��������������������������6�����
��������2
��0�������
������������������������
2��

���
�����
���������(����������
��(������������.���������
���
���
�����
�������
����������7����������H	��������I��������������������������
����0��
���������
�
��.��������H	��������I�

���
�����
�������������
��(��-������������/�
�����������
2
���������
�����������
�����
�������������
��.��������H	��������I������������0��
�����������������������
��)*��
���

�$�����
������
����(����������
��(����
���
���������/�
����
���������
2
����������
2�
����������������������
���
���������
��������������������������������������)*��
�����
����
�����������

�����.�������������
��������H	��������I�/�������
����������
2
�����5��
���2�����
�������������������)*��
����������������

%0��
���=�	
����
��
�������H	��������I

����
����
��
�������������
2
����������H	��������I�������2��5�����.�����
�������
�������
��������������
�
��������������H	��������I��������J�
����������������@0���
��2�������������������������/������
��
�������������.�����
����*����������������

�)�����������������

B���.������(�������������
����������������������������������5����������������
����
��
��
�
��
�����������
4�����������5�����������
�����������������������/����������
���
����
�������
�
������������
2
�������7����
�������/��������
�����
����
��
�����
�
�����

����2��=������
��

����������������������
����������������������*���������
���������
����������.��
����������������������-�����/�������/�
������������������������2������
������)J����
�7���������������5�������
)�
�����

B�2����=�D������
���������������

����/�
�������������������
����������������������������������5������2�������
���
������(����������������/������
������2��
�����(�/�
�����
���
3�����������
��������
��.���

����������
�����������/�
�������������������������������������������5(�������������(
�
.�����2�������
������.��������������
����������
��3��/���������������������
�������
���� ���.����� ������ �����
����(� ��� �������
������� ������������ 
���
����
�)���

�����
3��
��� �
� �
�)J�� ����� �
��� ��� ����������
�� ����� ���� �������

��
�
���(�����������
���������������������������������/�
�����������������������/�
���
�����
���
����7������������������������������������/������
2����
�-���������
���

����
���
��
�
���




	Texto5: 
	Texto7: 
	Texto1: 
	Texto2: 
	Texto3: 
	Texto4: 
	Texto6: 
	Texto8: 
	Texto9: 
	Texto10: 
	Texto11: 
	Texto12: 
	Texto13: 
	Texto14: 
	Texto15: 
	Texto16: 
	Texto17: 
	Texto18: 
	Texto19: 
	Texto20: 
	Texto21: 
	Texto22: 
	Texto23: 
	Texto24: 
	Texto25: 
	Texto26: 
	Texto27: 
	Texto28: 
	Texto33: 
	Texto34: 
	Texto43: 
	Texto44: 
	Texto45: 
	Texto46: 
	Texto38: 
	Texto39: 
	Texto40: 
	Texto48: 
	Cuadro combinado1: [Empresas Básica:   300,00 €]


